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ams<afaFd A, B, C, D, E, F, G 3iITH Eight people A, B, C, D, E, F, G and H
Wmﬁﬁa?ﬂﬁm%%l are sitting around a square table. Four
Eﬁ@'WWﬁi‘lﬂTﬁ'@' Fh of them are sitting at the corners
FAT T dS § 3R equaigtaﬁr facing outside and the remaining four
mﬂ'@rmﬁaaﬁ agma#wﬂ% are sitting at the sides of the table

%I H, C a;aﬁ#a;a'twmwﬁa%l facing inside. H sits second to the left
G H *Eﬁ@'FﬁWFﬂﬁWh%l of C. G sits third to the right of H. E
E,G %ﬁ#@?ﬂﬁﬂﬂ'ﬁ%l A, sits second to the left of G. A sits
EFT T FQJTFI'W%H%I B, second from the left of E. B sits at one
ool Y Ueh HEY 31T 9T o7 of the middle sides of the table. B is
%’I B, E mﬁmqﬁﬂ’raﬁ% D, F not an immediate neighbor of E. D

F a1 & G TUTT W ST 8. sits second to the left of F.
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Eight people A,B,C,D,E,F,GandH
are sitting around a square table. Four
of them are sitting at the corners
facing outside and the remaining four
are sitting at the sides of the table
facing inside. H sits second to the left
of C. G sits third to the right of H. E
sits second to the left of G. A sits
second from the left of E. B sits at one
of the middle sides of the table. B is
not an immediate neighbor of E. D
sits second to the left of F.
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How many people sit between H and A, when
counting from the right of H?

A. Two B. One C. Three D. More than
three E. None

Who sits to the immediate left of D?
A.C B.G C.B D.H E.Noneofthe above

.Find the odd oneout? A.C B.G C.D D.H
E.F

Which of the following pairs is facing outside?
A. D-B B. H-A C. F-C D. G-H E. None of the above

Who sits third to the left of F?
A.B B.A C.G D.C E.Noneofthe above
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f in a number 729645138, 1 is subtracted to each odd number and 1 is added to each

even number then what is the product of third digit from the left and fourth digit from the

right end, in the new arrangement?

Ife T&AT 729645138 A, 3 WEAT H 1 s foar o=w § 3 o7 o= # 1

gﬁam%,ﬁa?ﬁwﬁ,ﬁﬁ?r#ﬂwmaﬁ?aﬁﬁﬁﬂww
o

A.45 B.32 C.54 D.40 E. None of these

it
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73.Statements:

Only a few Pod is Drive :?;::: ;n(t::}-t

Some Drive is Bond All Cart is Board

All Bond is Flag No Board is Gun
Conclusions: Conclusions:

I. All Drive is Flag I. Some Board is not Part
II.Some Pod are not Drive II. No Gun is Part

A. Only I follows A. Only I follows

B. Only II follows B. Only II follows

C. Either I or II follows C. Either I or II follows
D. Both I and II follow D. Neither I nor II follows

E. Neither I nor II follows E. Both I and II follow
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74.Statements: 75.Statements:

All Ship is Gas Only a few Calt is Drill
Only a few Gas is Hunt All Calt is Pin

No Hunt is Flash All Drill is Gross
Conclusions: Conclusions:

I. All Drill being Pin is a possibility
II. Some Gross are not Calt

A. Only I follows

B. Only II follows

C. Either I or II follows
D. Both I and II follow
E. Neither I nor II follows

I. Some Ship are Hunt
II. No Ship is Hunt

A. Only I follows

B. Only II follows

C. Either I or II follows
D. Both I and II follow

E. Neither I nor II follows

it
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.How many such pairs of letters are there in the word ‘HANDCRAFT’ each of
which has as many letters between them in the word as in the English alphabet
(both forward and backward)?

g 'PIHC A & F W forasr o3 &, ot @ 9% & o 3«
& e’ & forasr & 33 guiATar (3mar 3t 1 =) F &2

A. One B. Two C. Three D. More than three E. None
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Be dT MUTT A, B, C, D, E 31X F U IR H
ﬁmﬁﬁﬂ:mmmr&% CIGIGE G
Y &Y IIT-3re9T ArE! AT AE, ST 3R
ma?rmaﬁtzsamwaﬁmr—ram%l
C 30 f&=tt aTer AES & FTIHA & AT AT
C IR E & fig ) uFd FRIFA A AT g
21 E3R A F T Hhaad v AT FRIFA A
HTT AT ¢ | B, A W UGl HFIAHH H iAo gar
2| B ¥ Ugo FIIFH H ATAT o arar e
$Y TEIT F & 1€ FIAFHH A A gt arel
9N Y TEAT F AT &1 D, F & 91¢ HIRIHH
H AT arg|

Six peoplei.e. A, B, C, D, E and F going to
Mussoorie to attend an event, which is
held on two different dates i.e. 13th and
28th of three months i.e. May, June and
July. C attends the event in the month
having 30 days. Two people attend the
event between C and E. Only one person
attends the event between Eand A . B
attends the event before A. The number
of people attending the event before B is
the same as the number of people
attending the event after F. D attends
the event after F.
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Six peoplei.e. A, B, C, D, E and F going to
Mussoorie to attend an event, which is
held on two different dates i.e. 13th and
28th of three months i.e. May, June and
July. C attends the event in the month
having 30 days. Two people attend the
event between C and E. Only one person
attends the event between Eand A . B
attends the event before A. The number
of people attending the event before B is
the same as the number of people
attending the event after F. D attends
the event after F.
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No.ofdays | Month | People | \Who amongst the following attends the event on
31 13" May E 28 July?
31 | 2°may | 8 |AF B.C CD D.A E Noneofthese
30 13%June | A How many people attend the event before F?
30 28" June | C A. Four B. Three C. One D. None E. Two
31 13% July | g

_. . ' .B was born in which of the following dates?
= 25"y ’ A.July 13th B. May 28th C.June 28th D. July
28th E. None of the above

Who among the following attend the event
between B and C?

A.D B.E C.A D.F E.Noneofthese

Who amongst the following attends the event before
B?
A.C B.F C.E D.D E.Noneoftheabove
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If it is possible to make a meaningful word from the 1st, 3rd, 9 th and 11th letters of the
word AGGREGATION, then which will be the third letter from the left of that word? Mark
X if no such word can be formed and mark Y is more than one such word can be formed.

Ife eG AGGREGATION & Ugdl, dieR, ald 3N 7aREd e & v 3rdqot ereg
qATT THT &, A 3T Usg F A A DT HERW FA T QON? A UFH IR
%ﬂ%ﬁ%ﬁﬂﬁﬂﬂﬁﬂﬁ%ﬁﬂ@#ﬁﬁ?%ﬂ@%ﬁﬁ

|

A.IB.AC.XD.YE.N

it
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There are six containers in a stack with different
volumes. Every container has its volume in odd
numbers only. Only C is heavier than E. F is not
the lowest. A is heavier than F. Second lowest
container volume is 15 and the volume of the
second-highest container is 33. B is heavier than
D but lighter than F.

UF FF A HAA-379 degA & AT B8
F&T ¥ TYAF UH FT HAST AT GEa13it
& g 81 Fad G ER qYY §1 FEAR BleT
A€t ¥ AR T R | GO R FHA Fol
mma?rw%sﬁtagf{maﬁmm
%W%%I B,DH HY § ofheT F& Toahr
|
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C>E>A>F>B>D Who amongst the following attends the event on 28 July?
(33 (15) A.F B.C C.D D.A E.Noneofthese

How many people attend the event before F?
A. Four B. Three C. One D. None E. Two

B was born in which of the following dates?
A. July 13th B. May 28th C. June 28th D. July
28th E. None of the above

it
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6 person, "A, B, C, D, E, F" goes for a movie on 6 different days from Monday to
Saturday. A goes 2 days after D but before Friday. There is a 3 days gap between C
and E. B goes on Saturday. F goes immediately before A. Who goes on Wednesday?
6 =ufda, "u, o, I, 3, §, tH" WHAR F ARIR dF 6 3rerer-3rerer ST H v oA
& fow ST 81 A, D& 2 et a1g dfheT AR & dgel ST g1 C 3R Ed &g 3 =
F1 3 1 B AR A o1ar ¥l FAF S dger ST §1 qUEAR F FiT S 82

)E 2)B 3)D 4)F 5)A

it
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In a number ‘85214796’ if 2 1s added to all odd numbers and 1 is
subtracted from all even numbers, then what will be the difference
between the first digit from left end and the first digit from the right end?

UF WEAT '85214796' # afe welt Rwer deamsit F 2 ey smar § 3k wsh
A FEIIH A {1 °RAT AT g, A 910 X § g 3F IR A sR @
qgd 3 F I FT HAT FAT N7

1)7 2)6 3)5 4)2 5)3

it
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In the given word ‘EXPATRIATE’ if the vowels are changed to the next letter

and the consonants are changed to the previous letters as per the
alphabetical series, then which letter/letters are re-peated more than once?

few T ereg 'EXPATRIATE' # Ife FaRT &I 39T &R A deo f&am Sem &
AR FUITTHA & AR horel H od e § dea A arar 8, af Fia &

IFETT/3TERT T UF T HWF a7 eI™AT S1ar §2

1)J,0 2)0, Q 3)W 4)0Q, J 5)B, F, S

it


http://www.mahendras.org/

FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727 /

s ARPTA, B, C, D, E, F, G, 3R HE YA
1, AfS 2, A 3 iR AT 4 F IR
-3 AT IR @A &1 T Ah ATSTA H &l
eTT-3TSI9T Fele ¢ | Fole 1 31X Fole 2) T+
AT W Fle 1-Fle 2 U AU ST R T &
fop Tl AfSra F1 vl 1 AR AT F Fele 1
F 81 39T g 3R Al Aforer 771 Fele 1 o
FW & g AfSTer &7 Fele 1 30K 37 wele 341
@ YA 3 ART F IR TF AT W
TEdle AR BIEATE| F, BH AT &I ¢ ST D
¥ g Afder A1 Wwar g1 B gEdl Afda W w@ar g
E 9gell Aforer & Fele 2 A w@ar el G had Afaer
W T & dfhe Fole 1 A a1l H e AT WX
T8l e Folc 1 A AT & | B H TEIT IT Fole
A @ar el A 3R c Fele 1 A @A & et 3ra9T-
er9T ATl W@ &

There are eight persons A, B, C, D, E, F, G, and
H, who live on four different floors among floor
1, floor 2, floor 3 and floor 4. Each floor has
two different flats viz. flat 1 and flat 2) There
are 2flats on each floor flat 1 —flat 2from left to
right in such a way that flat 1 of the fourth floor
Is exactly above flat 1 of the third floor and flat
1 of the third floor is exactly above flat 1 of the
second floor and other flats are situated in the
same way.C lives one floor above the floor on
which B lives. F lives with B who lives two
floors below D. B lives on the second floor. E
lives in flat 2 of the first floor. G lives on the
third floor but not in flat 1. H does not live on
the fourth floor but in flat 1. B lives in even
numbered flat. A and C live in flat 1 but on
different floors.
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There are eight persons A, B, C, D, E, F, G, and
H, who live on four different floors among floor
1, floor 2, floor 3 and floor 4. Each floor has
two different flats viz. flat 1 and flat 2) There
are 2flats on each floor flat 1 —flat 2from left to
right in such a way that flat 1 of the fourth floor
Is exactly above flat 1 of the third floor and flat
1 of the third floor is exactly above flat 1 of the
second floor and other flats are situated in the
same way.C lives one floor above the floor on
which B lives. F lives with B who lives two
floors below D. B lives on the second floor. E
lives in flat 2 of the first floor. G lives on the
third floor but not in flat 1. H does not live on
the fourth floor but in flat 1. B lives in even
numbered flat. A and C live in flat 1 but on
different floors.
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who live in the flat 1 of floor 2?
Flatl Flat2 B 2)C 3)F 4A 5G
Floord A D
Who lives two floor below the floor on which G
Floor3 C G : )
lives in the same flat number?
Floor2 F B 1)A 2)F 3)C 4)E 5)None of these
Floor1H . Who lives on the same floors?

e~ ) HandG 2)FandB  3)CandB  4)EandD
5) None of the above

Who live on the fourth floorofflat2? 1) H 2)C 3)A
AHE 5D

Which of the following given pair is different from rest?

1) Hand C 2) Gand E 3)Cand F 4) E and G
5 BandD
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FIT'l'_qﬁ-T-I'A B,C D,E, F3ﬁTGWﬁ'ﬁ‘“¢I’ﬁ'3?IT The.re. are. SEven pers.ons A 3 C D, E F and
ﬁg"ﬁmmﬁ?{ﬂ%%ﬁﬁﬁmwaﬁ G sitting In arow facing north direction but
R 54l 9 & &1 T #) 37T- 37ST9T 3T (st not necessarily in the same order. Each one
ﬁ.)% s 4, 15, 17, 19, 21, 233ﬁT403Tﬁ»TrI' has a different age (in years), i.e., 4 1.5, 17,

ST =TT ST 19, 21, 23 and 40 but not necessarily in the
19 ﬁ??ﬂaﬂf@gl F, Eﬂ?aﬁ#ﬂ same order. The person whose age is 19
T AT R ISTE, msTWBﬁsaﬁm years is sitting between C and F. F is sitting
TIA BHF ST IT BT, mmsmm% 3rd to the right of E whose age is 6 years

ﬁﬁﬁ'ﬂﬁzoﬁml F@I:ﬂm EsﬁTGaér more than that of B. A sits just immediately

STAT LI WWT‘W%H’IF%&EW@'& left of B whose age is a multiple of 5 but not

gl cmmam@ram—qm% v more than 20. Age of F is the sum of the ages

TS oIETRe BT of E and G. There is only one person who

W%It?ﬁsﬁiﬁ?ﬁ?ﬁgma s sits to the immediate right of F. C whose age
9 9

Is a two digit prime number sits 3rd to the
right of the person whose age is 4 years. Age
of D is two years less than the age of G.
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There are seven persons A, B, C, D, E, F and
G sitting in a row facing north direction but
not necessarily in the same order. Each one
has a different age (in years), i.e., 4, 15, 17,
19, 21, 23 and 40 but not necessarily in the
same order. The person whose age is 19
years is sitting between C and F. F is sitting
3rd to the right of E whose age is 6 years
more than that of B. A sits just immediately
left of B whose age is a multiple of 5 but not
more than 20. Age of F is the sum of the ages
of E and G. There is only one person who
sits to the immediate right of F. C whose age
Is a two digit prime number sits 3rd to the
right of the person whose age is 4 years. Age
of D is two years less than the age of G.
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(4 years) {15 years) (21 years) (23 years) {19 years) (40 years) (17 years)
A B E C G F D

How many people sit between A and D?
1)5 2)4 3)3 4) 2 5) None of the above

What is the age of F?
1) 21 years 2) 40 years 3) 17 years
4) 15 years 5) 19 years

Which of the following is correct?

1) A sits third to the right of C

2) Age of Fis 19 years

3) Sum of the age of A and B is same as that of G
4) Only one person sits between F and D.

5) Age of C is not a prime number.
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2001

Four of the following are alike in a certain way and
so form a group. Which of the following does not
belong to the group?

1)BC 2)GD 3)GE 4)AE 5)CF

Which of the following is correct?

1) A sits third to the right of C

2) Age of Fis 19 years

3) Sum of the age of A and B is same as that of G
4) Only one person sits between F and D.

5) Age of C is not a prime number.

(4 years) {15 years) (21 years) (23 years) {19 years) (40 years) (17 years)
A B E C G F D
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